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o x ¥
zv
tan 45 =—
x

Xx=T=yS7TH
o feft e A A =7+ 7 J3H°

=7(1+ 3

20
30. (B) tan® = 1155

= 1.73160 ~ /3
0 = 60°
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B

* G5
w3 F1 @4 (AC) = BC sec 60°
=6.5x2
= 13 .
32.(A) I
—
=
60°

AB = x7}, = ED ------- (i) (.- AB=ED)
AEDCH
. ED
tan 60° = EE

4
"thmetic . Where Concept is Paramount

X

Y3 = 50-x
50/3-x3 = x
x(1+3) = 503
5043 m
= = 1+43)
34, (A) i
P
180 #t.
60 .
60° 7
. Q N
AMNQ # :-
. _ 180
tanb0® = ON
180
= QN = 7= = 603 ™.
ﬁPQNﬁ:—
PQ_ 60 1
tang - QNHEDJEH Jg
8 =30°

35. (C) a4 %! war (formst wor 24 . o=t 3)

24
= EWEU=BDT&

36. (D) AABCH :-

.. BC
tan 30° = AB
1 243
B H—J; = AB = 6 .
ZABD =60° (-- 90° + 30° +  ABD =
180°)
- 2 ABD = 60°
AABD T,
,_ AD
tan 60 AB

AD
¥3 = g = AD=6 3 ¥

157
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38. (&)

h = 75/3 &%t

sin 60° =
AC

7543
= x 2 = 5
AC 7 150 #vit

T4 ® g F=E = AB + AC

= 75/3 + 150 9+,

g

- Tk e ay ad
- - owly

o § 'S e

26 (O BC e ¥ AR A

| '\‘ ﬂ
Ae |
| A R i,
| e '
AB? = B 2 A\
- Ia'\“: & hj;_"l':
= (G + N
AR = 250
AR = 502
“0.(A)
{
v wi <
TN IS F F N = ¢
WRgarsm A mmsmia
X Jry
tm‘.ﬂ'- y - 3\(‘3— % u
= 33Xy =3ty
3\'3_1: =3y
X 3
v 3
L |
= fang = v = :;5
= 0 = 30°
41, - e
(B) w};
_.-"’-,F ik
e L ,
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tan 60° = E}I
/'y \:“"3‘
O 120x 3
3
OA = 40 /3
LK
P
'1'1-13745 rQ
N B
tan 15
3
tanB = 2
8 P
15 AQ
8 PQ
15 " Tir+BQ M
3 PQ
7 " BO ... fti)
TR )W fii) R 1 ¥ W
8.4 . A
15 3  117+BQ PQ
32 BQ
45  117+BQ
32x=117 =13BQ
288 = BQ
L} S |
BQ 4
3
PQ - ZKEBS
R =216

43.(A)

44.(B) A

30° 45¢°

35t

A

A ACPH,
ZPAC = 30°

= PC
tan 30 AC

1 3

V3 " ac

AC = 3. /3%
A PCB ¥,
ZPBC = 45°

. PC
tandS'BC

BC
B =3
T w1 g = AC+BC
34+3
= 3(J3 + 1)L
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(BC + 50)

J3

0 cot 60°

AB

AB
BC = 7
i ) 7 (i) @
AB
ﬁ-+50
J3

A:Bn

=5 Jghﬂwﬂﬁ

J3
3AB - AB
J3

TR F S (AB) = 25,3 7.
45. (C)

= 50

2AB
=350 = __J?ISD

sasc i)

w.. (il)

AC = TGt &1 o4 = x
w9 =l # 3 9. ?ﬁ?ﬂmm
BD = Htet
#: BD = x|t
CD = 3 1. .
BC = (x- 3) #i.
AB = 9T,
AABCH
(92 + (x-3)2 = x
8l+x+9-—6x=4x
90-6x=0
x =151k

i3

Hdl:

47. (C)

h m,

-~
B
-

60° 30
D C
—» 424>
AH1 AB @1 € format war 'h A 3
AABCH
h
X +24
J3h =x+24
AABD §

X

= tan 30°

ff)

tan 60° = L
x

h

_—

X = 'jg +ﬁ1}
X1 7 T ()Y e W

h+243
\!'.?Th - Jg
3h=h+24J3

h=12/3 #

=
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5.0 45°

45°
«—60 T—>

P 130 .

D\(—-—}jﬂ vﬁ.-—}B

AB = 130m
CD T80 TR & @
AE||PC
ZEAC = ZACP =45°
AAPCH

AP
- T el
tan 45 60

AP =60 m
T T W S = 130 -60
=70 .

49. (A) A

45°

60P

y
T AE = x (I8 B T W )
DB=Ec=qaaﬁﬁ§=30ﬁ.
BC =DE=y
a1 & S = AC
AABCH

x+ 30

we——8 —>UT

= tan60°

Aﬂthm'ﬁc - Where Concept is Paramount

=5 x+30 = 3y (i)

AADE #

= tan 43"

< | x

- oo fT)

x=1y

T (i) a (i) A
x+30 = J2x
30 = x(/3-1)

30 J3+1
= .
x= J3-1" J3+1

=15 (V3 +1)
v @ s (AC) = 30 + 15(V3 +1)
=30+ 153+ 15

=45+ 153
=15 3 (ﬁ+1)
50.(D) <
{ E ‘3"303
458
30' 45& QU" C
A ]
a4 BC=h
DC=ana
AD = 1 Tadte-
AABCH
e h
tan 30° = T
1 h
= J3  1+a
a= J3h-1
ABDCH ;-

h
a =tan 45" =1 = h=a

h=J3h-1

161




| = h(J3 = 1) (i)

J§ +1
2
Bt

hom ==

2
T HT i S = 1.365 frte

51 B
D

i T

l h
A 30° 60 {;1
AB = W7 &} S = 125 .

CD = T/ &1 &=t = b,

AABC ¥

=% h =

tan 60° = f—Br-

AC

52. (B) &

53. (B)

54. (A)

__.d.?'iﬂ'lmma - m‘ﬂrﬂ Cﬂncﬂpt is Pard!

W 7 (BC) Fl FAmE = 0
M = 30° ‘
7l (AB) =20 % cot 30°

=20y/3 i,
C

)

30°
180 Tito

30° v
A B

A 7 q fawd 3 A 7 g

= th aﬂl

T H IR
AB = 180 x./3
= 18043

30°
A 125 ¢ - B
A PBCH

tan 45° = EE 3
" BC
PB =RBC
APBAH
PB

A_Ei = tan 30

__PB 1
AC+CB ~ 3

PB 1
12+PB 3

12
PB = 73-1

=6(y3+1)
=-ﬁ}t2,?32

= 16.4 .

unt



